Eﬂﬂaugﬂﬁﬁ)

[#ZEZFEIE | (Tackling Typical Questions)

FRSRERABNERER - oMEEARET

MEBEEERLOREHREFENSE

ER TEINERBAENERED  AREBE -

BERNMEE (=R

@ Bk MR IR

PR | ERRE AR 7% T I S LR (R () A
LR BT — N T IR T - AR PR LL PSR - AR e
il R -

BEIE

b IR AT

1. HBESH
BT TR - (B ] M (RS - BTEAR W0 00N o e
L
z. EERS
= R T A T 2 T RO A - B R R L
= PORRRY SOOI RS AT T R - TR MR TR
= MRRCATECHE ¢ N 0E IR R T R
ol L A o ol O Y O 1 R 4 2
3. SEHER
w0 A T AT T - O O A O R R T T MR - R e
i K71 - [t AR A
Mo C Y AR LA TAT = O SN O R BTAT - ML - Mk
WL © LA AT o RN -

@ Basic concepts in economics

n Tackling Typical Questi

Typical Question 1 Opportunity cost defined as the highest-valsed
{or the best) option forgone

)

Peler considars spanding an aflermoon walching TV or daing revision. Explamn the effect on the

epportunity cost of deing revisicn il

. his favouriti TV programin is shown in tal aftermoon;

B e will have & best bomennaw.

. Question analysis

Kary words: “explain’_ ‘affect” and ‘opportunity cost” Note that the word ‘effect’ doss not imply that
theve must be & change in the opporunity cost.

. Answering techniques

* ldenlify the opportunity cost of taking the aclion (7 the question), |.e., the value of walching TV.
= Dwtermine whether the highost-valued apgion forgone is affecied. |.o., whether the value of

walching TV wil be affectsd

* Il here iz a changs in cosl, 18ll how il changes (Le,, increases or decreases).
* I there ks na change In cost, state that the (value of the) highest-valued aptian fargone ks

unaffectsd.

. Suggested answer

a, The cost of daing revision is the value of watching TV, When his favourite TV programmes
is shown, the value of watching TV will become higher. Hence. the cost of daing

revision increases.

b. The cost of doing revision ks the valve of watching TV, Having a test tamormow will not affoct
the valua of watching TV. Hence, ihe cost is unaffected, [Nole: [l increases the vaiue

rathar han th ccst of doing revision.]
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n Correcting Common Errors J

The following sentences contain mistakes. The cormections and underdying reasons are explained.

2,

Messuserment of seanomic perior
national income statistics and the general price level

‘When nominal GOP is greater than real GOP, this implies that the current price level is
higher than it was in the last pariod.”

T Correction and explanation

If inflation has occurred, this imgles the curment price level s higher than it was in tha last

perod. However, whan nominal GOP ks greater than real GDF, this only implies the cumrent
price level is higher than it was in the base period. The curent price level may or may nat be

highar than it was in the last perod.

‘Suppose both GDP and pap

g. 1 the i

the Increase in population, per capita GDP will increase.'

hy Correction

in GDP is greater than

If thes percentags increase in GOP is greater than thi percentage increase in population,

par capita GDP will increase.
@I% Explanation

Suppose GDP increases from $10 million 1o $10.2 million while population increases from

1 millicn to 1.1 million. Although the increase in GDP (0.2 million) is larger than the increase

in population (0.1 million), per capita GDP decreasas from $10 to $9.27. From the above

example, we know that it ks incomect to compare the changes In the values of GOP and

population, Instead, we should compare the percentage changes in the twe igures,

For par capita GOP io increase, the percentage increase in GDP (nominator) has to be

ol 2

greater fhan the percentage increase in the population {denominator), for example, when GDP

by 2%.
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Chinme the BEST answer v eoch qandion

Which of dhe followiag statements abuous scapcity isfare comea®
Ao Searcity implies that human wasks are walimited
B, Scarcity implies that proplc b i maks chrsees.

€. Pueope e the probliom of sty o bong s the msoum of pesources availablc

i fined.
T Al of the above

O

Which of the Tollowiag will snerese o locsl university student’s cost of panicipaling in an overesm

evchange programme?
A The price of sir ikt increses
B, The doratson of the exchange programm: is cxjcaded,

€. The usversity sks (he pamcagunts m the exchange programse to defer their umiveraty

studies,
All of the shove
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**ite your answer in the space provided.

Tran is o major il exporter and its economy relies heavily on oil exports.

Source A1 Timeline showing the tension between the US and Iran
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Practice (3 Ed)

For part (d), students are required 1o present their answers in essay form. Criteria for marking will
include the use of sources and economic theories, relevant content, logical presentation and clanty of
expression.

d. Suppose tensions between the US and Iran escalate. With reference to the above sources and
your own knowledge of Economics, discuss the effects on the US economy, including:
*  aggregate outpar;
*  market interest rates: and

*  other economic variable(s). (12 marks)

(Sl Structured Questions

Write your amswers in the speec pravided.

1. MrFung, o schoolseach

hus revently resired

O

1 obtzined o retiremen fund of 82 million. He uses

the fund 10 open a sl restusmes, He cnaploys twa waltresses and works s the chef himsel,

A Hlosw will the cost of insing the refirement fand 10 ogsn the restaumet change when isbenss et

increases sharply ™

4 marks)

b Fuplain bow each of the following sinstions affects M Fung's cost of runaing the restanent

b There isan

crease in teachers” salaries after his retine et

i, There is an increane in the premium for cmphoyees” imarasce policics.

dif.  Bursines ol bils esaonn worsess.
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Sample essayi Easay structares
T tensicns between ihe US and lran escalile, the US cvonomy may be

affcted in variois Wiy

WUS aggregate owtput will decrease. Accarding io Source E, oil prices will

iz As 0l i a0 important snpul bn masy industrs, te cost of prodectzon actice (37 Ed) m

e rase, 15 sleort e aggropate supgly will deciease. Tn sgution,
mmay cut back on investment doc to uncertainty. Gross i |||'vn|m:nl expenedituse
and i ol will decreae. As both d and
aggregate supply decrease, US aggregaie outpus will decrease.

“The changes in market increst rates arc uncertain. On the one hand, due to
Muctuations in the stock market, people tend 10 hobd more cah 1o avoid risks.
Asset demand for money will increase, pushing up isserest rases. (i he ocher
Tand, if the stock mark his, people’s wealth wil icastly
and assei demand for money will decrease, exerting downward pressure oa
imerest ries, Therefore, changes in U'S market inlerest rales we uncertain.

A Ll im aggregate output will lower the demand for labowr. Gives the same.
Nabcar force, when Mp«pkmummph:ed,memnﬂmmmmll |

Fise As  resule, the U

-

- AR RATRET AT
L #'3" AR R TR

ERBEER - U - 2REAMEXRENL

A RN NE S TR aREELD

F ATHENEESINE | 0
- EmMANEANT
& - NN TARS -0

T AN
LR EER

LT ey
HYRHERTERE -

| empmenmenie
SEEANREANER
EmER -

DRQ X RAIER |
"omETF - ;

7

N

I
[}
[}
[}
I

d. Maximim marks: 19 marks lor content, 2 marks for elfective communiation
Argwers may include the foilowing
CHet Enaggregane Sutiut
® il prices increase. SRAS decreaes and sggregate cutput falls. (2 marks)
® Firs rodues matenent. AD detredss and aggregate output Talk. (2 mastks)
* B e siock mareet crashes. peopie’s wealth and consumpaion will decrease. AD and aggregare
output wil fail. (2 masrks)
(Mamirmosm marks for ‘aggregate culpt’: & marks)
Etferys on market ingerest tates:
= s the stock market becomes riskier, people may hold mare cach. [Asset) demand for money
Frcreases, pushing Up IMBrEss rates. (2 marks)

W the stock market crahes. peopie’s wealth will decrease, Lasset] demand for money decreasts.
At dowrnaard DS o interest fate 2 masrks)

HReal) natioral INCOMme GRCIASES. PRCHI CONTIMERaN expendiiune decneases. (Transactont

demand for morey decreates, euerting downwand presise on interest rtes (2 marksy
(Manimanm marks foe ‘murke? inberest rates’. & marks)
Effexts an atber coonamic vatiabies:
= The change in the price level & uncertain a3 both SRAS and AD decresse. 12 marks)

* Afall i aggregate upul reiies the demand for labois The unemployment rate may
e, (2 manks)
GOWETNENT Frenas AI0A NCDME 13605 / Porsonal INCOme L3 / COMIRe ACome 12/ profits
tan f salanes Lanms may decreasa. (¥ marics)
Gowerienen| empenditure on unemployment benehits £ sulmidees to firms £ rarlen pamments may
e [ marisy
Blaasis rmarks for ks For "aiher econmic wariables”: 4 marksh

h variable: 3 marks;



